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senflsio /| MATHEMATICS

(p80 wHmb 2pEdle cufl / Tamil & English Versions)

Gpyib : 2V2 e | 8 S i e [ Qurss wdubuamser : 100
Time Allowed : 2%2 Hours | [Maximum Marks : 100
afleyenr : (1) o@asg clamssEnn siurs oFs0 LT o aTeTgm eraTUsana

sflunisg s Qarararain. Fsuudaler GopuGuldsa ans
sanareriuureniib e Lengwrs Qzfeiléseayb.

2 fob <dog spuy ewvloa bLECL awsWEHED.
2 505 HeusHED LLaLBSS Couam@L. ULRSST umTaushE
Quendlé LweTuHSseyb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

@iy : Qecdamssrer pren@ Wflaysmeans arar. g
Note : This question paper contains four sections.

‘9fey - 1/SECTION - I
(dlubuenser : 15)/(Marks : 15)

GOy : () Qudfefle edrer15 eflenns

. e
N

&@L ellenLwieflgsab. 15x1=15

(i) OQar@asuul Béver Bremg adesafld Wseyb sflurer el amus
GaAsh &8 GOULHLe el Wemeann Gaibg er(peis.

Note : (i)  Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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6373 2
;1 f.B, 2 d W Qran®h sarmsEnéd {(A\B) U (B\A) N (ANB) = :

(<) ¢ (=) AUB (@) AnB (F) A'nB

For any two sets A and B, {(A\B) U (B\A)}n (An B)is:

@ ¢ b AUB © AnB (d A'NB
2. 11,2358, .. eTaip Qari euflensulien 8-cug o mili :
(1) 25 (<) 24 (@) 23 (r) 21
The 8t term of the sequence 1, 1, 2, 3,5, 8, ... iS :
(@) 25 (b) 24 € 23 @ 21

3. an Junpses terui aflmsle 3-aug puy 2 aaile iga pao
5 e puiysatlen GUmESHLLET !

(1) 52 (<zp) 2° (®) 10 (r) 15
If the third term of a G.P. is 2, then the product of first 5 terms is :

(a) 52 (b) 2° (¢ 10 (d 15

4. f)=22+(p+3)x+5 e@b ud@NUysCaraamuler Q@ yeuhsalan
shzd Usswbloafle p-er wdHiy:

(@)3 ()4 (@) -3 (w) -4
The sum of two zeros of the polynomial f (x) =2x%+ (p +3)x+5 is zero, then the value
of pis:
2
(a) 3 b) 4 (© -3 @ -4




wm

3
ax2+bx+c=0 erenn FOETUT Iq&T ppeiisear g0 erafld, ¢ - gl :

2 2 _12 __b2
(o) = (<) = @ o (M o

If ax2+bx +c=0 has equal roots, then c is equal :

2 2 _-b?. __b2
@ = ® © 5 W -

4 zw
(5 x27%) —1J'=(20),ersuﬂ«ab x - @ gy :

1
(=) 7 () -7 @) > (%) 0
f(5x1) | —1 | = (20), then the value of x is :
%
% 1
(@) 7 ® -7 © 3 @ o

(1,1), (0, 1), (0, 0), 1, 0) AW LeTelsarmed Sy FrosFsglen LT :

(=) 3 &. OESeT (=) 2 & é;su@assﬁ

(@) 4 &5 eGseT (FF) 12 oG

Area of the quadrilateral formed by the points (1, 1), (0, 1), (0, 0), (1, 0) is :
(a) 3 sq. units : (b) 2 sqg. units

() 4 sq. units _ d) 1sq unit
q sq
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4

2,-7) eremp yerefl eufléd Geveugb x-HFfHE Qemeanrwrarg rer
CrresGamigem soarur( :

(@) x=2 (@) x= -7 @ v=-7  (m y=2

The equation of a straight line passing through the point (2, —7) and parallel to x-axis
is:

@ x=2 (b) TR —~7 (€ | e (d) y=2

uLgdlay LPAB=120° erafléy £BPT=

(1) 120° (<) 30° (@) 20° (m) 60°

In the figure, if ZPAB=120° then ZBPT=

(@ 120° b) 30° (c) 40° (d) 60°
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10. @ augtlarss psCarammbiseilean snneare)sat wenGu 24 cm , 18 cm erens,
(pae pECaransdlen @m LSS 8 cm erafld LHAMTM P&CaTeansser DBN S

&S LSS

(@) 4cm (=) 3 cm (@) 9em

(FF) 6 cm

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(a) 4cm (b) 3 cm () 9cm

11. uLgdler AC=

C

>

B 60°
A 25m B

(=4) 2518 (<) 2543 18 (@) %LB

In the adjoining figure, AC=

(d) 6cm

(F) 254218

(d) 25/2m
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12,

13.

14.

15.

(1 —cos?0)(1 +cot?0) =

(<) sin?® (<=5)0 (@) 1 () tan29
(1—cos?8)(1 +cot?) = |
(a) sin®0 b 0 - 1 (d) tan?p

%‘n’ cu.cm, 5.08.18 sar sjatey Qaram. Cararddlen gy :

(1) 5 cm (@) > cm (@ 3em () = em

If the volume of a sphere is %qr cu. cm, then its radius is :

4 3 3 2
(8), - o © em (d) 7 em
X,y z-an L aflewsshd t erafley x+5, y+5, 2+5 -an UL llawss:

t
(=1) 3 () t+5 (&) t () xyz

If t is the standard deviation of ¥, y, z then the standard deviation of x+5, y+5, z+5
is :

@ 3 B) t+5 R 3. @ xyz

A ararp Hepsdlfien Mapssea) p aafler Gearaumeaiaraupdle p ams Hlana
QlFuLb.

(@) 0<p<1 ()0<ps=1 (@) 0<sp<1 (F) O<ps<1
If p is the probability of the event A, then p satisfies :

(@ 0<p<1 b) 0<p<1  O0=<p<l d O<p<1
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9ifley - II/SECTION - II

(wgluGluemraer : 20)/(Marks : 20)

@y : () udm SamssEpsEL NlaLwalésan. 10x2=20

(i) eferr eaw 30 &@ sarglurs el weflEsayn. se
14 SamssafdiBhbg gCsab 9 damésamens Caiey Geliweywb.

Note : (i)  Answer 10 questions.

(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. Qar@asiul@erar F={(1,3), 2.5), 4, 7), (5. 9), 3, 1)} erayib s 9p@, wHILSD
O eiFesD ySuaupean STaETs.

For the given function F={(1, 3), (2, 5), (4, 7), (5. 9), (3, 1)}, write the domain and range.

17. @m yBGsrii e s aflmsla 23 Crmrgré Gegsdr. 2 - auflmsdle
21 Gyrgré Qs 3-1b euflengulled 19 Crmré Cey ser eranp wenpuiler Grmgmé
Qegser @m Qs euflens Semonde 2 ereren. senL 8 auflensufied 5 Crmagré
Qeyser @mUnder UYBCEM L 580 aggman aufimasdr 2 crarar.

In a flower garden, there are 23 rose plants in a first row, 21 in the second row, 19 in
the third row and so on. There are 5 rose plants in the last row. How many rows are

there in the flower garden ?

18. 3:3-17x2+431x— 12 eranuans 3x—2 o agssh Gurg daLsE@h re| wHmLD
Bd sreiwrs.

Find the quotient and the remainder when 3x3—17x?431x—12 is divided by 3x—2.
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19.

21/

22,

8

3+47,3-V7 gduapen apamisarrss Qsrar QmuUnF FoaTuT KoL s
SITGRTE.

Form the quadratic equation whose roots are 3++7,3—/7 .

2 3 1 &)
A= (—g 5] = (7 - J, Tailed) A-an gl L@ Criorn enflaws sramns.

28 1 5
If A= ( ) - [7 J, then find the additive inverse of A.
L it

aj; = :—;—; erevp e miLiLsamens Caral euflens 2x2 2 arer ojenfl A= [a;] Wlenar

B 6N D& .

Construct a 22 matrix A=[a,] whose elements are given by a; = i—;i .
4 i J

®20) , 0 ¢, (L 1) erenuen Cr CriEGaM-Ind siewwb Ldreladr erafld
]
=

+ -1? =1 eram Flmeys.
P q

If the points (p?, 0) and (0, %) and (1, 1) are collinear, prove that -l—_j + 12_ =1.
Py -9




23;

24.

25.

26.

2%

28.

9 6373

ABCD ereiip BTH&[ID, 4Fed TOT LUSSEIGERD @ eulLsms CgriHiuorm
DleehglaTeTs). AB=6 cm, BC=6.5 cm and CD=7 cm, erafly AD -én Bengengd
STTS. :

ABCD is a quadrilateral such that all of its sides touch a circle. If AB=6 cm,
BC=6.5 cm and CD=7 cm, then find the length of AD.

(sin®8 +cos®8) =13 sin? cos™ erar (WPHOWTHOWeW Himeys.

Prove the identity (sin®d + cos®8) =1—3 sin0 cos?0.

30 8 Beraparer ep susHar Blipdlar Sern 10V3 18 erafle @flweflen gpmé
Cerawgdler (seor w5l mbe aons Carertid) erallanend &iewrs.

Find the angular elevation (angle of elevation from the ground level) of the Sun when
the length of the shadow of a 30 m long pole is 103 m,

@M Slaw ersCararsdlear euameruruy 2772 £.608.05 arafley oizeam Qurss
YoUUTUenLS STeTs.

If the curved surface area of a solid hemisphere is 2772 sq. cm, then find its total surface
area.

@5 Slewo smbiblen < To WHMD STWTD werpGw 20 cm LHMID 29 cm erafla
SFF DS Fabllan Sar SeTMHUd STAVE.

Radius and slant height of a cone are 20 cm and 29 cm respectively. Find its volume.

e 13 Quie eransaiar L Nwsssm88 Srems.

Calculate the standard deviation of the first 13 natural numbers.

[ @@I;ILHB / Turn over
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29. A wpmid B eramy @ran(® Hlspaflsafic PA) = % P(B) = % wHmd P(AUB)=1
erafley :

(i) P(AMB). (i) P (A’ UB)

Sdlueinens sreamrs.

If A and B are two events P(A) = —, P(B) = % P(AUB) =1, find

=

() P(AnB), (i) P(A UB)

30. A={x|x- cremig) 42 -a1 L&TE Fyemil)
B={x|5<x < 12, x ¢ N} bpmib
C={1, 4, 5, 6}, erafléd
AU (BuC) sraums.
3I6060F)

yerefl (1, 3) & pHECSTLH swowoTss: Qe p&EGeramgdar Qm wenesar
(—7, 6) pmitd (8, 5) erailed wpaCamemsSlen 3-eug apapareniis &reins.

For A={x|x - is a prime factor of 42}, B={x|5<x < 12, x e N} and C={1, 4, 5, 6}, find
AU (BuC).

OR

If the centroid of a triangle is at (1, 3) and two of its vertices are (—7.6) and (8, 5) then
find the third vertex of the triangle.
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Ylfley - III/SECTION - III
(08 L@ UGTsEr : 45)/ (Marks - 45)
GOy : () 9 lamésEnss elawalssalb. : 9x5=45
(i) eflenm eram 45-5@ sewngLUTS oila L wWelssald. LY
14 cilanmésefldlmbg aCaaib 8 famssmer Cairay Qeliwayib.
Note : (i) Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31. Glauan LLks@aTl LwaTUBSS (An B) =A’ UB' eranuenss sfuniés.

Use Venn diagram to verify (An B)'=A’ U B'.

32. gy f:[-7,6) > R pssam_cumy QUETUMISSIUL(HETETS).

22 +2x+1 ; F=x<-5
flx)= x+5 ; =& XD
¥y : 2<x <6

lemeu(meuaTelDenmd &rams.
M 2 (-9+3f (2
B F{=0-J(=9

L Af(-3)+2f(4)
W) rce) —arq)

A function f: [-7, 6) — R is defined as follows :

22 +2x+1 ; —T7=<zx<-=5H,

flx)= x+5 P raEx <2
x—1 - 2<x <6
Find : () 2f(-49+37(2

@ F(=N~f(-3)

o Af(3+2f@
W e 37 0)

[ &mlLs / Turn over




6373 12
o 33. @@ &LESEsTLT aflosla 10 LHmb 18 g e puyse wernCGu 41
- WLHOID 73 crafled, 27 eugl o NILMLIGSTNS.
(E
The 10t and 18t terms of an A.P. are 41 and 73 respectively. Find the 27t term.
34. 16 cm, 17 cm, 18 cm, ooy, 30 e G Fwcupenn PDGU LISS SHETEUSTTES
Qsrer 15 sené s5ITRIS6Ta SaT 2jeTeysd e S0 HTaws.
Find the total volume of 15 cubes whose edges are 16 cm, 17 cm, 18 cm,............... .30 cm
respectively.
a8, Rigg: £, 2t1 6
x +1 x 30 i
Solve: —* 4+ X il 0t
x+1 X 30
36. x*—102>+37x%—60x 136 &7 QUTES (PLSHSESTRS.
Find the square root of x* —10x> +37x%—60x +36.
37. 3a2—6x+1=0eranm FOGTUT 198 APOREIGET o, B eTefled SLDEETEILD (LPEEIHEN TS
QaErerT FWEILIT(HGEDET DLOES
(i) o, P2 (i) 2a+p, 2B+
If a and B are the roots of the equation 3x>—6x +1=0 form an equation whose roots
are : >
() o%f, B2 (i) 2a+B, 2B+a.
. :.._.___._— W




38.

39.

40.

41.

42.

13

fa

10
A= L‘T ZJ wHmw Iy = [0 1), erafled A%~ (a+d)A=(bc—ad) I, eran Hlmeys.

a b O 1
If A= ME T A IJ,I'.henshowthat A2 (a+d)A = (bc—ad) L.

AABC -an qpenanser A(2, —4) B(3,3) C(-1,5) erafled B -uledimbg suenywiiLi(Hd
&886CaT_[H auflé Ceagib CrrsCam e SLETUTL ML STaETs.

It the vertices of a AABC are A(2, —4), B(3, 3) and C(—1, 5). Find the equation of the
straight line along the altitude from the vertex B.

(—4,5) (0,7) (5, —5) wH@ID (-4 —2) AW Lerelsemar (eranseTTas GaTemL
BTDEFSSET LFLeHLIS HTes.

Find the area of the quadrilateral whose vertices are (—4, 5) (0,7) (5, —5) and
[~ =iy

40 8 2 wpeparer @m Caryrsdler e& LHpL <ig HuanBadmba e
somsmy dasdear o sfllar gons Carammadr wpepGu 30° HMID 60°
aafle, sanser dasda e sdWdBmhs Caryrsdear <gs@ o drer
SITSOFWLD FTEs. ‘

From the top and foot of a 40 m high tower, the angles of elevation of the top of a

lighthouse are found to be 30° and 60° respectively. Find the height of the lighthouse.
Also find the distance of the top of the lighthouse from the foot of the tower.

@@ e Gpi eulL e peveruden cuenerLILITLIL LHmb Gorsst YnOuFLL
wpeopCw 880 &.Q#.15 , 1188 £.05.8 erafley sigen sar sieteneus srams.

The curved surface area and total surface area Df!olicl circular cylinder are 880 sq.
cm and 1188 sq. cm respectively. Find its Volume.

[ &mlys / Turn over
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43.

44.

45,

14

18, 20, 15, 12, 25 erenm elleurmiF@ns@ wrmun_ (& Qs(pameuds STavs.
Calculate the co-efficient of variation of the following data :

18, 20, 15, 12,25

@ auGLIAD 2 aTer Loremmeuigertier 40% Cuir senfls eflarmy. eflamT Hlapsdlulfig,
30% Guir iflellwed ey, eflarm Hlapsflufigib 10% Cuir Sieuelyar(h efami
eflert Hlepsslsaigib song Cerar_air. cau@ldadlmbs Fwv eumiiliy
wapWld g wramee CsTEasR&aLILLLTD, Sl safls efatmg eflearT
BHsnéAudGar soag dleilud efermy alam flspsfludCar siweg @)
blapéflaafigCar sapg Qaram_sharer Hepsse] STas.

In the class, 40% of the students participated in Mathematics - quiz, 30% in Science -
quiz and 10% in both the quiz programmes. - If a student is selected at random from the

class, find the probability that the student participated in Mathematics or Science or
both quiz programmes.

(1) @(F &T&ESEE S LTTOTES &@@sr\ruﬁé! Bg b Geanss algala
SlewhgieTang). FLTrsdlear Gorss o wrb 49 8. Sigar SusliusasHen
eflL b 42 5. e peverl urssder 2 wrh 21 18, Cogubd 1 5.8 Assren
gienfluflen eflenaw X 12.50 eT@iled, ST yewwsss Comanurar Sssren

genfludlen efleneeniids 5rra‘a‘ra;.[q = .‘%?_]
o

LDV

(<) Caranr GQmewtean ns Capngdear bosamaamu oipd Fneys.

(a) A circus tentis to be erected in the form of a cone surmounted on a cylinder. The
total height of the tent is 49 m. Diameter of the base is 42 m and height of the
cylinder is 21 m. Find the cost of canvas needed to make the tent, if the cost of

canvas is T 12.50/m?2. (Take = _2;)

@

(b) State and prove the converse of Angle Bisector theorem.
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Wlfley - IV/SECTION - 1v
(LHLCLGTSET : 20)/ (Marks ; 20)

GO : Qe aflenrelayd = drar Brewm(p) Lnrr‘rb@ cflennésafisllbia em

eflamrenaug Csipes(hss Qm ellenmés(ené @i ellenL weflgseyn.  2x10=20

Note : Answer both the questions choosing either of the alternatives.

46. 10 Gl&.5 eAIC1_aperar e L ib QDS uLL Sl wwsHfmhs 13 Q.8
Lgrenaede) p eremy Lereflanis BDI5s SiLsTafulelmns L §8HE PA
WwHYID PB erem Ggm®Carfeer UEDTHE Agen feRismear samidl[Ha.

{600 G,
AB=7 cm, £ZA=80°AD=4.5 cm, BC=5 cm TN <aTe &6 QETaRTL eul L
Br&rd ABCD euanps. =

Draw a circle of diameter 10 cm, From a point P, 13 em away from its centre, draw the
two tangents PA and PB to the circle, and measure their lengths.

v -

s
Construct a cyclic quadrilateral ABCD with AB=7 cm, ZA=8(°, AD=45 cm and
BC=5 cm.

47.  euenuLLD ppeid Efdes @ x2—2x—3=0,

3|68
4

TY=20, %, y > 0 eTeTLISET euenTUL LD UDTE. SAFPT LIWSTLBSE x=5 erafled y
@ wHleuyn y=10 x -ar wEUSULD Srams.
Solve the equation x2—2x—3=0 graphically.

OR

Draw the Graph of 1y=20,x,y>0. Use the graph to find y when x=5, and to find x
when y=10.

-00o0-






